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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) narjmWu gd©àW_ AnZo àíZ-nÌ na Zm_m§H$ A{Zdm ©̀V… {bI| &

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) g^r àíZ hb H$aZo A{Zdm ©̀ h¢ &

All the questions are compulsory to attempt.

3) àË òH$ àíZ H$m CÎma Xr JB© CÎma-nwpñVH$m _| hr {bI| &

Write the answer to each question in the given answer-book only.
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IÊS> - "A'IÊS> - "A'IÊS> - "A'IÊS> - "A'IÊS> - "A'

SECTION  - ‘A’
~hþ{dH$ënr¶ àíZ : - [14 × ½ = 7]
Multiple Choice Questions :-

1) ................ ñdmñW¶ Ho$ {bE AÀN>m h¡ - [½]
A) Á¶mXm gmoZm ~) Á¶mXm ImZm
g) ¶moJ H$aZm> > X) Cnamoº$ g^r
_________ is good for health.
a) Too much Sleeping b) Too much eating
c) Yoga d) All of these

2) dm¶ag .............. hmoVm h¡ - [½]
A) gm°âQ>do¶a ~) hmS>©do¶a
g) S>mQ>m~og > > X) Am°naoqQ>J {gñQ>‘
Virus is ________.
a) Software b) Hardware
c) Database d) Operating system

3) àofH$ AnZo g§Xoe {H$g VarHo$ go ôO gH$Vo h¢? [½]
A) Bemam| go ~) ~mobH$a
g) {bIH$a> > X) Cnamoº$ g^r
How a sender can send its message?
a) By actions b) By Speaking
c) By Writing d) All of these

4) ""~hþV ~{‹T>¶m, AmnHo$ H$m‘ ‘| gwYma hþAm h¡&>'' C³V dm³¶ ‘| H$m¡Zgr à{V{H«$¶m h¡? [½]
A) ZH$mamË‘H$ à{V{H«$¶m ~) gH$mamË‘H$ à{V{H«$¶m
g) H$moB© à{V{H«$¶m Zht> > X) Cnamoº$ g^r
"Very Good, you have improved in your Work." Which type of feedback is there
in above sentence?
a) Negative Feedback b) Positive Feedback
c) No Feedback d) All of these

5) “Ram is eating Cake” dm³¶ ‘| g§km eãX H$m¡Zgm h¡? [½]
A) Ram, Cake ~) is
g) Eating> > X) Cnamoº$ ‘| go H$moB© Zhr
"Ram is eating Cake" Which is noun is above sentence?
a) Ram, Cake b) is
c) eating d) None of these
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6) ZoQ>dH©$ H$m ZoQ>dH©$ ............. H$hbmVm h¡ & [½]
A) S>mQ>m~og ~) gd©a
g) H$åß¶yQ>a> > X) B§Q>aZoQ>
Network of Networks is called as ________
a) Database b) Server
c) Computer d) Internet

7) {dÝS>mo gd©a ............. H§$nZr Zo S>odbn {H$¶m h¡ - [½]
A) IBM ~) WIPRO
g) Microsoft> X) Apple
Window server is developed by _______ company.
a) IBM b) WIPRO
c) Microsoft d) Apple

8) {ZåZ ‘| go H$m¡Zgm EH$ Am°naoqQ>J {gñQ>‘ h¡? [½]
A) ñàoS>erQ> ~) ZmoQ>n¡S>
g) LINUX> > X) Cnamo³V g^r
Which of the following is an operating system?
a) Spreadsheet b) Notepad
c) LINUX> > d) All of these

9) ............... EH$ AmCQ>nwQ> {S>dmBg h¡& [½]
A) ‘mCg ~) H$s - ~moS>©
g) {àÝQ>a > X) Cnamoº$ g^r
________ is an output device.
a) Mouse b) Key board
c) Printer d) All of these

10) ’$mBb H$mo gwa{jV aIZo Ho$ {bE ........... H$m Cn¶moJ H$aVo h¢ - [½]
A) S>mQ>m~og ~) {àÝQ>a
g) nmgdS>©> X) BZ‘| go H$moB© Zht
________ is used to protect a file.
a) Database b) Printer
c) Password d) None of these
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11) SLA ‘| 'S' H$m nyam Zm‘ ............. h¡& [½]
A) Service (g{d©g) ~) Stack (ñQ>¡H$)
g) Sum (g‘)>> X) Scan (ñH¡$Z)
Full Name of ‘S’ in SLA is __________.
a) Service b) Stack
c) Sum d) Scan

12) {ZåZ ‘| go H$m¡Zgr EH$ ZoQ>dH©$ Q>m°nmobmoOr Zhr h¡? [½]
A) ~g ~) ñQ>ma
g) [a¨J > > X) Ho$~b
Which of the following is not a network topology?
a) Bus b) Star
c) Ring d) Cable

13) {ZåZ ‘| go H$m¡Zgm EH$ àmH¥${VH$ g§gmYZ h¡? [½]
A) gm¡a COm© ~) nmZr
g) bH$‹S>r> X) Cnamo³V g^r
Which of the following is a natural resource?
a) Solar energy b) Water
c) Wood d) All of these

14) ñàoS>erQ> H$s g~go N>moQ>r B©H$mB© h¡ - [½]
A) amo ~) g¡b
g) H$m°b‘> > X) EH$ erQ>
Smallest unit of spreadsheet is -
a) Row b) Cell
c) Column d) One Sheet

IÊS> - "~'IÊS> - "~'IÊS> - "~'IÊS> - "~'IÊS> - "~'
SECTION  - ‘B’

A{VbKwÎmamË‘H$ àíZ - [16 × ½ = 8]
Very Short answer type question -

15) J¡a ‘m¡{IH$ g§Mma H$m CXmhaU {bImo& [½]
Write example of Non-Verbal communication.

16) do~noO Ho$ g‘yh H$mo ³¶m H$hVo h¢& [½]
What is a group of Webpages is called?

17) Xmo BZnwQ> CnH$aUm| H$m Zm‘ {b{IE & [½]
Write Names of two input devices.
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18) WWW H$m nyam Zm‘ {b{IE & [½]
Write full Name of WWW.

19) ’$mBb ‘| {H$gr Text H$mo Save (god) H$aZo H$s em°Q>©H$Q> H$s (Key) {b{IE& [½]
Write shortcut key to save any text in file.

20) ’$m¶adm°b H$m Cn¶moJ {b{IE & [½]
Write use of Firewall.

21) H$åß¶yQ>a ‘| {H$gr EH$ g§J«hU ‘mÜ¶‘ H$m Zm‘ {b{IE& [½]
Write Name of any one storage medium in computer.

22) ZH$mamË‘H$ à{V{H«$¶m H$m CXmhaU {b{IE& [½]
Write example of negative feedback.

23) ‘Rohan is going to Jaipur’ C³V dm³¶ ‘| {H«$¶m eãX H$m¡Zgm h¡? [½]
‘Rohan is going to Jaipur’ Which is the Verb in above sentence?

24) ñàoS>erQ> H$m ’$mBb E³gQ>|eZ ³¶m hmoVm h¡? [½]
What is file extention in Spreadsheet?

25) Aj¶ D$Om© òmoV H$m Zm‘ {b{IE & [½]
Write Name of Renewable energy resource.

26) LAN H$m nyam Zm‘ {b{IE & [½]
Write full Name of LAN.

27) g’$b CÚ‘r Ho$ Xmo JwU {b{IE & [½]
Write two characteristics of successful entrepreneur.

28) {H$gr EH$ ZoQ>dH©$ CnH$aU H$m Zm‘ {b{IE & [½]
Write Name of any one network device.

29) IP ‘| ‘P’ H$m ³¶m ‘Vb~ hmoVm h¡? [½]
What is the meaning of ‘P’ in ‘IP’?

30) {H$gr EH$ S>mQ>m W«¡Q> H$m Zm‘ {b{IE& [½]
Write name of any one data threat?
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IÊS> - "g'IÊS> - "g'IÊS> - "g'IÊS> - "g'IÊS> - "g'

SECTION  - ‘C’
bKwÎmamË‘H$ àíZ :- [9 × 1 = 9]
Short answer type questions :-

31) amCQ>a ³¶m hmoVm h¡? [1]
What is router?

32) n¶m©daU H$mo gwa{jV aIZo Ho$ Xmo VarHo$ {b{IE [1]

Write two ways to protect environment.

33) ãby Qy>W H$m Cn¶moJ {b{IE & [1]
Write use of Bluetooth.

34) àoOoÝQ>oeZ ‘| ñbmBS> H$mo B§gQ>© H$aZo go Amn ³¶m g‘PVo h¢? [1]

What do you understand by insertion of slide in presentation?

35) OSI ZoQ>dH©$ ‘m°S>b ³¶m h¡? [1]

What is OSI Network model?

36) E§Q>r dm¶ag Ho$ ~mao ‘| {b{IE & [1]
Write about anti - virus.

37) WAN ³¶m hmoVm h¡? [1]
What is WAN?

38) ñàoS>erQ> ‘| Am°Q>mog‘ H$m ³¶m Cn¶moJ h¡? [1]

What is the use of Autosum in Spreadsheet?

39) ZoQ>dH©$ {S>dmBg ³¶m hmoVo h¢? [1]

What are network devices?



7

V - 109 6047

IÊS> - "X'IÊS> - "X'IÊS> - "X'IÊS> - "X'IÊS> - "X'

SECTION  - ‘D’
{Z~ÝYmË‘H$ àíZ :- [3 × 2 = 6]

Essay type questions :-

40) ZoQ>dH©$ Q>monmobmoOr ³¶m h¡? {H$Ýht Xmo Q>monmobmoOr Ho$ ~mao ‘| {b{IE& [2]

What is network topology? Write about any two network topology.
AWdm/OR

ITIL Ho$ ~mao ‘| {dñVmanyd©H$ {b{IE&

Write in detail about ITIL.

41) {’$qeJ AQ>¡H$ ³¶m h¡? dU©Z H$s{OE & [2]

What is Phishing attack? Explain.
AWdm/OR

Am°ZbmBZ em°qnJ Ho$ bm^ Am¡a hm{Z {b{IE &

Write advantages and disadvantages of online shopping.

42) gd©a ³¶m hmoVm h¡? CXmhaU g{hV dU©Z H$s{OE & [2]

What is server? Explain with example.
AWdm/OR

Wi-Fi ³¶m h¡? dU©Z H$s{OE &

What is Wi-Fi? Explain.
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